Nyaya Nagar, Mithapur, Patna-800001

NIT No. 39/2023-24 Date: - 13.12.2023

SHORT TENDER NOTICE

Chanakya National Law University invites single bid from the reputed bidders for Renovation and Painting work						
of D	of Drain and Renovation of Mess Kitchen of Boys' Hostel and Girls' Hostel inside CNLU Campus.					
1.	Name of the Work	:	Renovation and Painting work of Drain and			
			Renovation of Mess Kitchen of Boys' Hostel and			
			Girls' Hostel.			
2.	Estimated Cost	:	Rs. 259308/- (Two Lakh Fifty Nine Thousand Three			
			Hundred Eight) only.			
3.	Cost of Document (Non-Refundable)	:	Rs. 500/- (Rs. Five Thousand) Only.			
4.	Earnest Money Deposit	:	Rs. 5200/- (Rs. Five Thousand Two Hundred) Only.			
5.	Time of Completion	:	30 Days.			
6.	Bid Start Date	:	From 13.12.2023			
7.	Last Date & Time for submission of Quotation	:	20.12.2023 till 02:00 pm.			
8.	Date & Time of Opening of Financial Bid	:	21.12.2023 at 02:30 pm.			
9.	Place of Opening of Bid	:	Registrar's Chamber			
10.	Officer inviting Bids	:	The Registrar, CNLU, Patna.			

Eligibility Criteria: Bidder having the below mentioned documents shall be eligible for participating in this tender. List of documents are as mentioned below:

- 1. Duly signed & stamped scan of document in which Name of the Firm, Address with contact number, FAX, E-mail of the Firm and Firm's Bank Account Details with Bank Name & Address and IFSC / RTGS codes mentioned.
- 2. Copy of PAN card (in name of Proprietor in case of Proprietorship Firm) & GST certificate
- 3. Copy of Affidavit as per Annexure-I
- 4. Copy of up to date Labour License.
- 5. Copy of valid Character certificate of bidder issued from office of the Superintendent of Police
- 6. Bidder should be registered in appropriate class IV with works department of State Government for the above works.

Nyaya Nagar, Mithapur, Patna-800001

NIT No. 39/2023-24 Date: - 13.12.2023

A. REPAIRING AND PAINTING WORK OF DRAIN IN CNLU

SOR	Description	Qty.	Rate	Amount
1 14.1	Repair to Plaster to thickness 12 mm to 20 mm in patches of area 2.5 sqm. and under including cutting the patch in proper shape, racking out joints and preparing plastering the surface of the walls complete including disposal of rubbish to the dumping ground all complete as per direction of E/I. 10% of item No. 02 910.40 m ²	91.0 m ²	237.20	21130.20
2 13.98	Floor painting with floor enamel paint of approved brand and manufacturer of required colour to give an even shade 13.98.1 Two or more coats on new work Admin Building west side in or out Area.	910.40 m ²	103.10	93862.24
	Total Amount			

B. Renovation, Repairing and Painting work in Kitchen of Boys' Hostel and Girls' Hostel.

SOR	Description	Qty.	Rate	Amount
1 15.25	Dismantling stone slab flooring laid in cement mortar including stalking of serviceable material and disposal of unserviceable material within 50 m lead. $2\times2.5\times2.5 = 12.5 \text{ m}^2$	12.5 m ²	106.70	1333.75
2 13.98	Dismantling tile work in floor and roofs laid in cement mortar including stating material within 50 metres lead $15.23.1$ for thickness of tiles 10 mm to 25 mm $2\times10\times1.00 = 20$ m ²	20 m ²	30.70	614.00
3 11.23.21	Marble stone flooring with 18 mm thick marble stone (sample of marble shall be approved by E/I) over 20 mm thick base of cement mortar Q 1:4 (1 cement 4 coarse sand) laid and jointed with grey cement slurry including rabbing	51.70 m ²	1703.40	88065.78
4 11.38	Providing and laying ceramic glazed floor tiles 300×300 mm (thickness to specified by the manufacturer of 1st quality conforming to IS 15622 of approved make in colours, Ivory, Grey, Brown, laid on 20 mm thick (1:4) including pointing the joints with white cement and matching pigment etc. complete for Repairing work. 15 m² @ 862.40 = 12930	30.0 m ²	862.40	25872.00
5 11.36	Providing and fixing 1 st quality ceramic glazed wall tiles conforming to IS: 15622 of approved bottle, green white of any size as approved by E/I risers of steps and dados over 12 mm thick bed of cement mortar 1:3 and jointly with Grey cement slurry @ 3.3 Kg per sqm. Including pointing in white cement mixed with pigment of matching shade complete for repairing.	25.00 m ²	795.00	19875.00
$\frac{6}{4.1}$	Providing and laying position cement conc. of specified grade excluding the cost of centring and shutter all work up to Plinth Level. 4:1:3 (1:2:4) 1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size.	2.14 cum	3998.10	8555.93
	Total Amount			

Nyaya Nagar, Mithapur, Patna-800001

NIT No. 39/2023-24 Date: - 13.12.2023

SPECIAL CONDITIONS:-

- 1. L1 will be considered on the total amount of bids of the respective work.
- 2. All the T&P is to be arranged by contractor & nothing extra shall be paid on this account.
- 3. All labour by-laws & regulations are to be followed by the contractor.
- 4. The bidder shall be bound to follow the restriction on the movement of labour, materials imposed by any other authority connected with the site due to security or any other reasons connected with the event. No claim shall be entertained on this account.
- 5. The bidder shall take all precautions to avoid accidents by exhibiting necessary cautions boards, lights, flags etc. and ensure that no hindrance is caused to the traffic. He shall be responsible for all damages, accidents, caused due to negligence.
- 6. The bidder shall be fully responsible for the safe custody of the material.
- 7. Those bidders who are either blacklisted or debarred or against whom FIR has been lodged or whose contract has been rescinded by any Government /PSU or fail to execute the awarded work in past in respect of the any of the above work of CNLU will not allowed to participate in this tender process.
- 8. The contractor under this contracts commits himself to use first class material and assumes full responsibility for the quality of all materials incorporated or brought for incorporation in the work. The work should be executed as per direction of Engineer in charge.
- 9. All the excavated materials including debris, loose earth etc., shall be carted away and disposed of as directed by Engineer in charge.
- 10. **Insurance:** You will have to submit the third party insurance documents of engaged workers

Mandatory Technical Specification for all:

i) CEMENT : ACC, ULTRATECH AND LAFARGE OPC/PPC/PSC

ii) BRICKS : First Quality. (100A)
 iii) SAND : Coarse Sand, Sone
 iv) STONE CHIPS : From Koderma

v) MS Pipe : 2 inch dia thickness 2 mm.

vi) Tiles : Kajaria

vii) Marble : Slab approved colour

viii) Paint : Asian 1st Quality approved colour

Prof. (Dr.). S.P. Singh Registrar

Nyaya Nagar, Mithapur, Patna-800001

NIT No. 39/2023-24 Date: - 13.12.2023

Annexure-I

I / we declare						
Declaration by Quotationer on a non-judicial stamp paper of value Rs. 100/-						
That my/our company namely has						
not been black listed by any Government / Non-Government Organisation nor should have any litigation enquir pending and / or initiated by any of these Department or Court of Law with regards to the works executed by our company since incorporation. No FIR has been lodged against us. that all the terms & conditions, scope of work & eligibility criteria of NIT No. 39/2023-24 dated 13.12.2023 are acceptable to me / us.						
that the documents annexed along-with the quotation are genuine and not tampered by me / us while						
copying. If my / our declaration above found fake or forged then:						
i. my quotation document shall be rejected						
ii. Letter of Intent / Purchase Order / Agreement, if issued, shall be cancelled and						
iii. FIR shall be inflicted against my / our company / firm by the University.						
Signature of the Quotationer / Authorized Signatory (Name & Designation)Seal of the Quotationer						
Place:						
Date:						

Nyaya Nagar, Mithapur, Patna-800001

NIT No. 39/2023-24 Date: - 13.12.2023

FINANCIAL BID

Name of the Work: Renovation and Painting work of Drain and Renovation of Mess Kitchen of Boys' Hostel and Girls' Hostel.

Sl. No.	Name of Bidders	Amount of BOQ	<u>Above</u>	<u>Below</u>	On Estimated Cost
1.		₹ 259308/-			

Prof. (Dr.) S.P. Singh Registrar